6>2
2<6

6-1=5
2+1=3

5>3
3<5

6-2=4
2+2=4

4

4

Math Facts

Six is greater than two.
Two is less than six.

Six minus one equals five.
Two plus one equals three.
Five is greater than three.
Three is less than five.
Six minus two equals four.
Two plus two equals four.

Four equals four.
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= Yy
If Lily gives Leo two fish then
Lily will have four fish.
6-2=4
Leo will have four fish.
2+2=4

So, Lily and Leo will have the
same number of fish!

4=4
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Practice

Fill in the blank with either <, =, >.

Fill in the blank with the correct
number.

6-1 =

2+1=

6-2 =

2+2=

15



